F4AR ALt E

H MEA=E
ool =9l %
e 20164 20174 SN
- (A) (B) (B-A) =2+8(%)
 S4¢ 391.2 414.5 23.3 6.0
— Oof| A 250.1 267.9 17.8 7.1
(FA2) 222.9 241.8 18.9 8.4
-7|2 141 1 146.6 5.5 3.9
» SX|E 386.4 400.7 14.3 3.7
— Of| AF 263.9 273.4 9.5 3.6
-7l 122.5 127.3 4.8 4.0
N36.9 A28.1
» M A =X (GDPLHH|, % : %
I A =X(GDPCHH|, %) (A2.3) (A1.7) 8.8 0.6%p
. 644.9 682.7
« 27t 2 (GDPLHH|, % ' :
=7l F( fH],%) (40.1%) (40.4%) 37.8 0.3%p
B FF0rH MAuf = A
ool =9, %
B 20164 20174 Eap Al
(A) (B) (B-A) E22(%)
g A 386.4 400.7 14.3 3.7
1. 24-5X]- 13 123.4 130.0 6.6 5.3
2. W] 53.2 56.4 3.2 6.0
3. 25hA s g 6.6 7.1 0.5 7.6
4. 24 6.9 6.9 - 0.0
5. R&D 19.1 19.4 0.3 1.6
6. AH-F Ao X 16.3 15.9 A0.4 N2.5
7.S0C 23.7 21.8 A1.9 A8.0
8. SE-FLMAE 19.4 19.5 0.1 0.5
9. =4t 38.8 40.3 1.5 3.9
10. S¢-2 4.7 4.6 A0.1 A2
11. SSEA-oH 17.5 18.0 0.5 2.9
12, ek« x| el A 59.5 63.9 4.4 7.4

* 2017HE 20f & 7| =2



2. B} Al-= A8

B ATE iR (52)

o
d0
12
]

_ _ =507 (8)
A . = olurs|
(A+B) W & A o z 7] ¢

Al 1,931,532 2,594,324 2,159,862 434,462 290,856 143,606
M2 299,613 423,203 324,715 98,488 90,588 7,900
B2 AL 107,917 148,219 122,449 25,770 18,770 7,000
.y + 75,103 105,154 86,944 18,210 12,701 5,509
o X 93,242 125,595 103,470 22,125 12,086 10,039
Zr 42,364 59,017 50,856 8,161 5,842 2,319
A 40,330 56,605 48,915 7,690 5,089 2,601
2 At 41,998 54,997 45,981 9,016 5,647 3,369
M= 11,957 12,420 9,840 2,580 1,301 1,279
4 7| 387,701 505,497 397,195 108,302 55,947 52,355
2 2 95,219 123,862 109,826 14,036 8,744 5,292
== 74,264 100,309 87,510 12,799 7,550 5,249
= < 102,535 137,116 120,363 16,753 9,086 7,667
~E 97,842 134,496 120,996 13,500 7,747 5,753
X~ G 120,359 163,749 146,841 16,908 11,364 5,544
4a= 156,047 209,598 180,785 28,813 19,257 9,556
A G 142,182 189,994 166,059 23,935 15,331 8,604
M 3= 42,859 44,493 37,117 7,376 3,806 3,570




2. B} Al-= A8

B ATE iR (52)

(gt : of8l, %)
R 22l SUmERe | TeioHx|e
ANEd sRe yn oL W HME
ALE | =X =5 2T AFEE
A Mol meM =xa S5 AR

Al 2,594,323 | 721,838 | 237,398 | 337,383 | 772,429 109,228 86,485 22,757 306,805 471 68.4
M2 423,202 | 179,278 53,383 2,597 69,825 22,873 24146 1 12,216 58,884 80.5 81.7
2 A 148,219 457789 12,516 8,583 47,065 7,732 5,818 4,444 16,272 52.9 62.8
.y + 105,154 30,083 7,872 9,755 32,018 5,978 4,134 2,170 13,144 49.9 65.9
ol X 125,595 40,479 18,398 7,924 33,660 6,683 4,862 38 13,551 60.5 71.0
I F 59,017 15,280 4,448 6,988 20,348 3,982 2,407 400 5,164 448 64.4
| A 56,606 16,357 4,798 5,910 17,663 4,023 2,613 180 5,062 50.9 68.1
2 At 54,996 19,012 6,023 3,150 13,102 2,909 2,755 0 8,045 58.8 67.6
N = 12,420 5,560 1,116 905 2,407 - 0 2,432 58.0 67.6
4 7| 505,498 177,471 61,283 24,305 128195 13432 19,678 640 80,494 61.3 69.6
PARS 123,862 16,693 8,772 37,968 44,359 4115 1,410 229 10,316 241 68.0
== 100,310 18,617 6,026 23,469 34,864 4,166 2,048 138 10,982 30.0 65.2
= 137,115 29,446 8,932 29,355 48,624 5,941 3,313 305 11,199 34.3 67.3
~E 134,496 17,859 8,052 34,571 56,359 5,793 1,977 370 9,515 22.3 61.8
N e 163,750 19,763 7,938 45,087 68,825 5479 1,751 0 14,907 20.0 60.9
4= 209,597 33,189 11,725 51,613 76,161 8,412 3,413 1,265 23,819 26.2 64.1
a4 189,994 44872 13,212 33,354 66,297 7,710 6,160 362 18,027 38.7 66.3
H = 44,492 12,090 2,904 11,849 12,657 - 0 4,992 33.7 65.9




B AZZ2F oz
CLEEER
ot e e 2R WENYE  NMENFE
N (ks A)
Ao usd Swe xgM Mot mEM ed % 26l % 29
Al 1,313,345 1,066,521 246,824 520,375 100,402 95,940 41.2 54.1
M2 298,011 206,398 91,613 155,554 37,436 1,334 15 813 1 820 1
2 A 100,911 77,468 23,443 38,104 9,421 7220 7 492 6 500 9
O + 70,858 53,231 17,627 24,701 5,907 8,103 4 469 8 628 6
ol & 83,166 63,017 20,149 33,167 15,422 5050 | 12 506 2 678 2
&2 3 40,398 32,732 7,666 13,134 3,250 6,732 8 4.7 9 615 8
f ™ 37,102 29,972 7,130 13,600 3,679 5667 10 470 7 66.3 4
2 A 32,471 25,620 6,851 14,222 4,232 14141 14 575 4 626 7
N & 12,420 9,840 2,580 5,560 1,116 905 16 579 3 675 3
4 7| 196,703 169,758 26,945 94,079 9,669 350 17 532 5 532 10
AR 47,124 43,370 3,754 9,500 1,227 8340 3 213 15 412 13
= 5 38,685 34,480 4,205 9,457 667 5100 11 258 13 40.7 | 14
= 51,725 47,350 4,375 15,504 1,021 5900 9 309 12 436 12
o 51,585 46,916 4,669 9,491 678 7292 6 184 16 345 16
MG 63,735 57,112 6,623 9,830 1,067 8,086 5 16.3 17 304 17
45 74,379 67,511 6,868 17,510 1,213 8341 2 239 14 36,5 15
a4 69,579 64,629 4,950 44,872 1,493 4257 | 13 36.8| 10 438 1
H = 44,493 37,117 7,376 12,090 2,904 11,849 1 387 1M 659 5




3. A8 ARAE

B AR E
[=E]
=

Al AEdd | EE-ZAA = Al 2 e
- (A ol (EA) (EA) (EA) (EA)
o 47 1 63.3 33.7 33.3 12.3 25.9
Me 80.5 81.3 311
EHAL 52.9 49.2 32.7 21.3
ol 49.9 46.9 25.9 20.1
o™ 60.5 59.6 10.9 26.6
2 44.8 40.7 17 .1
CHA 50.9 47 19.3
S A 58.8 57.5 34.4 26.5
MZ 58 57.9
47| 61.3 53.2 45.6 20.6
2l 24 1 21.3 21.5 12.4
=5 30 25.8 27.2 14.1
Lt 34.3 30.9 29.7 12.0
e 22.3 18.4 18.8 10.1
Myt 20 16.3 24.7 9.1
A= 26.2 23.9 221 9.7
ALt 38.7 36.8 31.2 9.3
NES 33.7 33.7
| T ch| Me Me 37| 47| 2ty 24 2F Mg s+
80.5 81.3 53.2 64.3 34.4 58.4
XLt = P =] 152 AR {5 o of Lt
?:E|X'|':,_|‘7_(-|| |_-||:| o T JEI 7c>:'T ST 7c>:'T o o EH:TL D:TL
20.0 40.7 16.3 8.9 4.2 9.4
B MYEXFEE
Al o AEdd | EE-ZAA = Al 2 e
- = Al ol (EA) (EA) (EA) (EA)
o 68.4 70.9 44.5 61.3 57.7 43.9
Me 81.7 82 52.5
EHAL 62.8 59.0 57.2 35.9
ol 65.9 62.8 53 35.3
o| X 71 67.8 53.8 41.3
i 64.4 61.5 31.8
oA 68.1 66.3 34.4
24 67.6 62.6 58.4 46.6
ME 67.6 67.5
27| 69.6 53.2 63.7 64.8
2l 68 41.2 63.9 63.6
== 65.2 40.7 60.6 58.8
Lt 67.3 43.6 61.6 57.3
M= 61.8 34.5 55.5 54
Mt 60.9 30.4 59.2 56.8
3= 64.1 36.5 58.9 58
At 66.3 43.8 59.8 55.4
ES 65.9 65.9
| T Ch| Me Me H = 47| 2ty 37| A Mg s8R
81.7 82 65.9 74.3 67.7 67.8
| R | Mg ok Myt 47| 858 e sot e
60.9 59 30.4 49.1 47.5 27.7




H- 2 = Al Abx|
(A =H) (&A) (&4)
78.4 88.2 81.8 78.5
78.2 75.3
76.8 79.2
75.1 80.6
76.9 83.2
82.8 81
82.4 80.7
84.4 82
85.6
88.1 83.2
86.9 78.8
55 85.6 80.1
Fut 89.3 81.1
N 90.1 81.2
Myt 88.1 81.4
aq= 89.9 80.7
ALt 92.8 80.9
hES 78.5
2 Tk IES A 4| Az 2a2F oM HE
85.6 92.8 93.4 92.6 85.9
7 SES A7 kA 48 28 Mg s=2
75.1 78.5 67 76.5 68.2
AH)
42 = Al ApR| =
el =H) (BA) (&4)
7 6.6 12.9 20.5
5.6 23.6
6.5 20.3
11.5 18.3
6.7 15.5
8 17.9
9.2 18.1
6.2 17.6
10.3
4.9 11.2
8.6 15.3
7.3 14.6
6.7 13.7
6.5 14.3
6.1 14.4
6.3 13.7 13.8
5.9 14.2 13.5
13.5
o=+ X == 47| ot 45 28 Mg B=E
11.5 13.5 21.1 21.1 31.5
Me 47| A7 AMlE it eF ol HE
5.6 4.9 6.0 7.3 13.3




